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ST-TO2 DESCRIFTIVE STATISTICS

Answer all questions

Time allowed: One hour

Q l, a) lt{umber of employees, average wage of employees and variance ofthe

vrages fcir two factories are given below:

Averagewage 120

'Variance ofwages 9

Factory A
50

Faotory B
100

85

16

ln whioh faotory is there a grater variation in the disfibution ofwages?

Siuppose that in fBotory B, the wage of an employee was wrongly entered

as 120 instead of l0O,what would be the correot variance ofwages for

fimtory B?

b) Customers' waiting times( in minutes) in a queue were found to be as

follows:

Duration of waiting ' : 0-10 10-20 2040 40-50 50-70

l{umber of customers : 10 15 40 32 28

:) Calculate dre meEn waiting time.

ii)Proving any formula used, determine the median and mode waiting

linrc fnr the ,rlrnwe ilctq



iii) How long do the middle 50% of the customors have to wait?
iv) What would be the standard deviation of waiting times?

Q2 . a) Define the term "Index Number"

b) i) Show that Fishers ideal index satisfy both time rovenral test ar:rd

factor reversal test.

ii) Caloulate tho appropriate prioe irdex number for year 1999 using

1998 as the base year.

1998 19sg

Item Quantity prioe per euantity prioe per

, 0bs) lbs 0bs) lbs i

Bread 6 Rs 40 7 p.s 30

Meat 4 Rs 45 5 F.s 50

Tea 0.5 Rs 90 1.5 Rs 40

c) For the following data, caloulate two un-weighted price incl.e:* numbenr.

Comnodities Price in 1984 price in l9g5

A F.s 50 Rs 70

B Rs40 Rs60

C Rs80 Rs90

D Rs 110 Rs 120

E Rs20 Rs20


